01.

02.

03.

Deterioration of structure
of timber due to dry rot is

1. Caused by fungi

2. Due to dry-spell after
heavy rains

3. Due to attack of termites

4. Indicated by surface
stripes on scantlings.

(a)l1and 2

(b)3and 4

(c)2and 3

(d)1and 4

Alternate wetting and
drying of timber

1. Results in shrinkage
and swelling.

2. Brings about wet rot

onset.

Increases the durability

4. Causes transmission of
spores from
germination

(a)1,2,3and 4

(b) 1,2 and 4 only

(c) 1, 2 and 3 only from

(d) 2, 3and 4 only

w

Which IS code is used

for classification of
timber for seasoning

purposes?

(a) IS : 4970-1973
(b) IS : 1708-1969
(c) IS: 1141-1958

chemicals:
, CuS0,. 5H
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06. Statement ()

07.

Timber
suitable for furniture is

obtained from conifers
only.
Statement (Il) Woods

with distinct annual rings
are conifers.
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ertion (A) Dimensional
hanges in wood result due to
variation in the moisture content
of the wood with atmospheric
conditions.

Reason (R) : The cell wall in
wood are highly hygroscopic and
when exposed to moisture,
absorb large amounts of water
and swell.



